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Code d’erreur.

	ERROR MESSAGE
	DEFINITION

	- - HI - -
	Load cell/point signal represents a weight higher than scale capacity.

	Error
	Invalid character entry.

	Err 1
	Invalid grad size. Grad size must be 1, 2, 5, 10, 20, 50, 100, 200, 500.

	Err 2
	NTEP grad size error. Grad size must be greater than the full scale divided by the range

	Err 3
	Average out of range. Average must be from 1 to 200.

	Err 4
	Instrument in motion when value entered.

	Err 5
	Not in Gross mode when trying to enter CAL menu.

	Err 6
	Invalid zero. Zero must be less than zero tolerance.

	Err 7
	Invalid grad size. Grad size must be greater than the full scale divided by the range minus one valid grad size.

	Err 8
	Unable to enter Calibration Menu without toggling ReCal segment on S3.

	Err 9
	Invalid zero. When the instrument is in NTEP mode, the zero must be within the zero tolerance.

	Err 10
	Invalid motion tolerance. Motion must be greater than 0 and greater then or equal to Grad Size.

	Err 11
	Negative gross weight during acquire tare. (NTEP only)

	Err 12
	All decades after decimal point must be active. (NTEP only)

	Err13
	Full scale calibration of zero or negative value not allowed.

	Err 14
	Scale capacity of zero or at negative value not allowed.

	Err 15
	Zero tolerance of zero or a negative value not allowed.

	Err 16
	Tare greater than span. (NTEP only)

	Err 17
	Acquire tare cannot be used with zero gross weight. (NTEP only)

	Err 18
	Difference between zero and span less then 100 counts.

	Err 19
	Occurs when configuring Serial Port 1 and entering a negative address.

	Err 20
	Option held when a print command was requested. Option hold active on remote functions TB when print command from serial port requested. (Serial Port only)

	Err 24
	Clock malfunction

	Err 25
	Invalid total decimal point.

	Err 26
	Faulty time or date entry.

	Err 40
	Software Cal sticker value too small.

	Err 41
	Software Cal reference point weight out of range.

	Err 42
	Software Cal load cell overloaded.

	Err 43
	Software Cal range is zero error.

	Err 44
	Sensitivity out of range.

	Err 45
	Sensitivity out of range.

	Err 50
	Too many BCD Options.

	Err 52
	Too many Serial Options.

	Err 54
	Invalid serial or BCD format entry. (____P or____)

	Err 55
	Illegal analog weight span. Analog span weight minus analog zero weight must be larger than 2% of the calibrated span.

	Err 60
	The number of load points found did not match the number entered.

	Err 61
	No load points found.

	Err 62
	Load point capacities or sensitivities do not match.

	Err 63
	Check Sum Error on 1 or more load points.

	Err 64
	Too many significant digits, after the decimal point, to be displayed

	Err 97
	Checksum error.

	Err 99
	Bad command sequence. (Serial Port only)


